
Flip up bed 
140, 160, 180, 200

ASSEMBLY / MONTERING

2024 W21
M-8182



YOU NEED / DU BEHÖVER

ca 60 min 2 persons / 2 personer

Place your product on a soft surface 
when assembling.

Lägg dina proudkter på ett mjuk  
underlag när du monterar.



A B

C D

E F

G H

K LI J

M N O Q

R S T U

M8x40

Bottom

Frame cover

M6x25 25

M6x10 M6x15 M8x50

ø6.6x19

PARTS / DELAR

Qty / Antal

A 54
B 2
C 4
D 4
E 1
F 4
G 13
H 1
I 1
J 1
K 2

2L
2M
8N

8Q
6

1O

R
2S
1T
4U



P1

P3

P2

P4

P5

P8P7

P6

P9

P10 P12P11

Qty / Antal

P1 1
P2 1
P3 1
P4 1
P5 1
P6 2
P7 2
P8 4
P9 1
P10 34
P11 17
P12 34

PARTS / DELAR



1.

ASSEMBLY / MONTERING

Follow the instruction step by step. 
 
Följ instruktionerna steg för steg.

Bottom

Bottom Bottom

Bottom

Top

Top Top

A

A

B

B

C

C

A

P2

P1

C



A

A

2.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P2

P1

P3



3.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P4



D E

4.

5.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

D

E



F

G

F

G

6.

7.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

F G



H

H

8.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

Align velcro bands! 



I

9.

10.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

I

Align velcro bands! 



Align velcro bands! 

Align velcro bands! 

11.

12.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



A

A

J

J

K

13.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

A

K



L

L

A

A

14.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



15.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

Slide the lifting mechanisms as close to the front of the bed as
possible before completely tightening the screws! 

M 

M N O

O
N



A

16.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

A

P5



G

17.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

G



Q

Q

18.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P6

P6P7

P8

P8

P8

P8

P7



O

O

R

R

19.

20.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P9

Screw
50%



O

O

21.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

Screw
100%



T

R

R

S

S T O

O

22.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

FRONT

BACK



U O

O

23.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

U



24.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P9

P10

P12

17x



25.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

P9

P12

17x

17x

1

2



 

Attention! Do not lift up the frame without a mattress on top of it!   
26.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



27.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



28.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



STRETCH 
BEFORE USE! 

29.

ASSEMBLY / MONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.



1.

DISASSEMBLY / DEMONTERING

Follow the instruction step by step. 
 
Följ instruktionerna steg för steg.



2.

DISASSEMBLY / DEMONTERING

Follow the instruction step by step. 
 
Följ instruktionerna steg för steg.



DISASSEMBLY / DEMONTERING

Follow the instruction step by step. 
 
Följ instruktionerna steg för steg.

3.

P10

P11

P12

P10

P12



U O

O

U

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

4.



T

R

R

S

S T O

O

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

5.



OR

R
O

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

6.

P9



Q

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

7.

8.

Q

P6

P6P7

P8

P8

P8

P8

P7



A

A

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

9.

P5



M 

M N O

O
N

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

10.



L

L

A

A

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

11.



A

A

J

J

K

A

K

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

12.



DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

13.

14.



HI

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

15.

16.

H



F

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

17.

18.

F

F



D E

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

19.

20.

D

E



P4

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

21.



A

A

P2

P1

P3

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

22.



Bottom

Bottom Bottom

Bottom

Top

Top Top

A

A

B

B

C

C

A

P2

P1

C

DISASSEMBLY / DEMONTERING

Follow the instruction step by step.
 
Följ instruktionerna steg för steg.

23.


